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Winter Semester, A. Y. 2022-2023
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Full Marks: 75

There are 3 (three) questions. Answer all 3 (three ) questions. The symbols have their usual meanings.
Programmable calculators are not allowed. Marks of each question and corresponding COs and POs are
written in the brackets.

1 a) Describe the criteria for choosing a microcontroller. 07
(COI,
POI)

b) Design an 8 bit hexadecimal to decimal con\erter using the process of repeated
division. Assume the 8 bit hexadecimal number is present in some RAM locations.
you need to convert these numbers to decimal and save the result in some RAM
locations of your choice

18
(C02,
P02)

2. a) Interpret bank 1 and stack conflict. 07
(COI,
POI)

b) Write a complete program using assembly language to find the weight of the
modulo-2 sum of the number obtained from port 1 and a number in R2.
[Hint: Modulo-2 addition is a XOR operation on two binary numbers. 'Weight’
means the number of is in it. Here it implies the number of bit positions in which
the two numbers are different. Doing XOR operation on two numbers, in the
following example, we get 1110. This is the modulo-2 sum and the weight of the
sum is 3.]

18
(C02,
P02)

e.g. 1 101

0011
1110

3. a) Assuming that ROM space starting at 350H contains “Jurgen’', write a program to 10
transfer the fIrst three bytes into RO, Rl and R2 of Bank-0 and the next three bytes (C02,
to RO, Rl and R2 of Bank- 1. PC)2)

b) Generate a delay of 5 ms for an AT89C51 with a crystal frequency of your choice. 15

Show necessary calculation. (C02,
P02)
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